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1. (160/0) Solve y' = 3x2 
- Y ; y(l) = 5. 

x 

2. (160/0) Solve x 2y" - 3xy' + 4y =0 , 	 y(l) =4, y'(l) =5. 

3. (16%) Use the method of Laplace transforms to solve 

y" + 2y' + 2y =8(t - 3), yeO) =y'(O) =0 . 

4. (160/0) Solve 

5.(160/0) Evaluate surface integral 	 JJ zdS where S is the part of the cone 
s 

z =~X2 	+ y2 between the planes z =2 and z =4. 

a2u a2u
6. (200/0) Solve 2 +-2 = 0, 0 < x 	< 8, 0 < y < 4 ax 8y 

B.C.: 	 u(O,y) =0, 0<y<4 


u(8,y) - 2, 0<y<4 


u(x,O) =0, 0<x<8 


u(x,4) =0, 0<x<8 



